(HONORS) GEOMETRY




NAME: _______________________
Unit 6 Lesson 3 – Properties of Rhombuses,


BLK: ___ DATE: _______________

Rectangles, and Squares

	Parallelogram:                        (
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Classify the parallelogram. Explain
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The diagonals of rhombus PQORS intersect at 7.
Given that m/ RPS = 30° and RT = 6, find the
indicated measure.

13. mZOPR 14. mZQTP
15. RP 16. OT

The diagonals of rectangle W/XYZintersect at P.
Given that m/ YXZ = 50° and XZ = 12, find the

indicated measure.

17. mLWXZ 18. mZWPX
19. PY 20. WX
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13. mZOPR 14. mZQTP
15. RP 16. OT

The diagonals of rectangle W/XYZintersect at P.
Given that m/ YXZ = 50° and XZ = 12, find the

indicated measure.

17. mLWXZ 18. mZWPX
19. PY 20. WX

The diagonals of square DEFG intersect at A.
Given that £H = 5, find the indicated measure.

21. mZGHF 22. mZDGH
23. HF 24. DE

IFS

G

F

25. Windows In preparation for a storm, a window is protected by nailing boards along
its diagonals. The lengths of the boards are the same. Can you conclude that the

window is square? Explain.
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T7. TMZ WX T8, MZWFX : : S
19. PY 20. WX z Y

The diagonals of square DEFG intersect at A. D E

Given that £H = 5, find the indicated measure. v

21. mZGHF 22. mZDGH i

23. HF 24. DE

25. Windows In preparation for a storm, a window is protected by nailing boards aloi

its diagonals. The lengths of the boards are the same. Can you conclude that the
window is square? Explain.

26. Clothing The side view of a wooden clothes dryer 9v2

is shown at the right. Measurements shown are
in inches.

a. The uppermost quadrilateral is a square. 1
Classify the quadrilateral below the square. h
Explain your reasoning.

b. Find the height 4 of the clothes dryer. ! !
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	Rectangle:
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	Rhombus:
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	Square:
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1.  Name the type of parallelogram. Explain.
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2.  The diagonals of rhombus PQRS intersect at T.   Given that m(RPS = 30° and RT = 6, find the indicated measure.
m(QPR =

m(QTP =
m(PQT  =
RP =

3.  The diagonals of rectangle WXYZ intersect at P.   Given that m(YXZ = 50° and XZ = 12, find the indicated measure.
(WXZ =
PY = 

4.  The diagonals of square DEFG intersect at H.   Given that EH = 5, find the indicated measure.

(GHF =
(DGH =
HF =

